Multiply and Divide by Powers of Ten (E)

Find each product or quotient.

92 x 1073 = 76 +~10° =
16 ~ 10% = 50 =101 =
62 +10' = 80 x 103 =
83 x 1072 = 70 101 =
81 +10"1= 42 ~10° =
27 +10% = 85+ 1072 =
54 + 103 = 85 = 1073 =
11 +10' = 94 x 107% =
64 - 1071 = 87 ~107 1=
85 x 10° = 57 x 1073 =
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Multiply and Divide by Powers of Ten (E) Answers

Find each product or quotient.

92 x 1073 =0.092 76 +~10°=76

16 +10*=0.16 50 + 107t =500
62 +10'=6.2 80 x 10° = 80,000
83 x 1072 =0.83 70 - 101 =7
81+10"'=810 42 +10° =42

27 +10%=0.27 85+ 107% = 8,500
54 +10%=0.054 85 + 107° = 85,000
11 +10'=1.1 94 x 107% = 0.94
64 + 1071 =640 87 + 1071 =870
85 x 10° =85 57 X 1073 = 0.057
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